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TNPSC GROUP I test batch – 2020 
TEST IX – CURRENT AFFAIRS (JAN 2019 TO FEB 2020) AND 

APTITUDE AND MENAL ABILITY 
 

1. Who has been conferred with the Bharat Ratna Award 2019? 
a. Nanaji Deshmukh  b. Bhupen Hazarika  
c. Pranab Mukherjee  d. All the above 
2019Mk; Mz;bw;fhd ghuj uj;dh tpUJ ngw;wth; ahh;? 
a. ehdh[p Nj~;Kf;   b. g+ngd; `rhhpfh 
c. gpudhg; Kfh;[p   d. midtUk; 

 
2. Match the following Districts 

A. 31st   1. Tenkasi 
B. 32nd   2. Ariyalur 
C. 33rd   3. Kallakurichi 
D. 34th   4. Chengal Pattu 
E. 37th   5. Tirupur 
 A B C D E 
a. 2 5 1 3 4 
b. 5 2 3 4 1 
c. 2 5 3 1 4 
d. 2 5 3 4 1 
nghUj;Jf 
A. 31   1. njd;fhrp 
B. 32   2. mhpaY}h; 
C. 33   3. fs;sFwpr;rp 
D. 34   4. nrq;fy;gl;L 
E. 37   5. jpUg;g+h; 
 A B C D E 
a. 2 5 1 3 4 
b. 5 2 3 4 1 
c. 2 5 3 1 4 
d. 2 5 3 4 1 

 
3. Which state has become the first state in the country to reserve jobs for locals in all private 

industries and factories? 
a. Telangana  b. Maharashtra  c. Uttar Pradesh d. Andhra Pradesh 
jdpahh; njhopy;fs; kw;Wk; njhopw;rhiyfspy; cs;@h;thrpfSf;nfd Ntiyfis xJf;fpa 
ehl;bd; Kjy; khepyk; vJ? 
a. njYq;fhdh b. kfhuh~;buk;  c. cj;jpugpuNjrk; d. Me;jpugpuNjrk; 



 

2 | Page APPOLO STUDY CENTRE 044-24339436, 42867555, 9840226187 
 

4. Who authored the book Reset: Regaining India’s Economic Legacy? 
a. Nirmala Seetharaman  b. Shashi Tharoor 
c. Raghuram Rajan   d. Subramanian Swamy 
Reset: Regaining India’s Economic Legacy – vd;w Gj;jfj;ij vOjpath; ahh;? 
a. eph;kyh rPjhuhkd;   b. r~p j&h; 
c. uFuhk; uh[d;   d. Rg;gpukzpad; Rthkp 

 
5. How many Tamil Brahmi inscribed potsherds were recovered during fourth excavation in 

Keeladi? 
a. 78   b. 103  c. 117  d. 56 
fPobapy; ehd;fhtJ mfo;thuha;r;rpapd; NghJ vj;jid jkpo; gpuhkp vOj;Jf;fs; nghwpf;fg;gl;l 
kl;fy cilry;fs; fz;lwpag;gl;ld? 
a. 78   b. 103  c. 117  d. 56 
 

6. Where is India’s longest electrified rail tunnel situated? 
a. Himachal Pradesh  b. Andhra Pradesh 
c. Arunachal Pradesh  d. Madhya Pradesh 
,e;jpahtpd; kpf ePskhd kpd;kakhf;fg;gl;l ,uapy; Ruq;fg;ghij vq;F mike;Js;sJ? 
a. ,khr;ry gpuNjrk;   b. Me;jpugpuNjrk; 
c. mUzhr;ry gpuNjrk;  d. kj;jpagpuNjrk; 

 
7. Google launched AI Research lab centre at 

a. Cochin  b. Hyderabad c. Mumbai  d. Bengaluru 
$Fs; jdJ nraw;if Ez;zwpT Ma;tfj;ij vq;F mikj;Js;sJ? 
a. nfhr;rpd;  b. i`juhghj; c. Kk;ig  d. ngq;f@U 

 
8. Tamil Nadu recently declared Tamil Yeoman as its state butterfly. What is the biological 

name? 
a. Charaxes Agrarius  b. Neptis Jumbah 
c. Cirrochroa Thais   d. Cethosia Nietheir 
jkpo; Nahkid jkpo;ehL rkPgj;jpy; khepy tz;zj;Jg;g+r;rpahf mwptpj;jJ> mjd; caphpay; 
ngah; ahJ? 
a. fuhnr]; mf;uhhpa];  b. neg;b]; [{k;gh 
c. rph;NuhNfhuh ij];  d. nrj;Njhrpah ePj;jh; 
 

9. How many states having legislative council after abolition of Legislative Council of Jammu 
and Kashmir? 
a. Three   b. Seven  c. Nine  d. Six 
[k;K fh~;kPh; rl;lkd;w Nkyitia xopj;jgpd;dh; vj;jid khepyq;fs; rl;lkd;w Nkyitiaf; 
nfhz;Ls;sd? 
a. %d;W  b. VO  c. xd;gJ  d. MW 

 
10. What is the name of the humanoid robot that has been sent to international space station by 

Russia? 
a. Fedor  b. Fexon  c. Felix  d. Findon 
u~;ah rh;tNjr tpz;ntsp epiyaj;jpw;F mDg;gpa kdpj cUt NuhNghtpd; ngah; ahJ? 
a. /nglh;  b. ngf;rhd;  c. ngypf;];  d. /gpd;ld; 
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11. Which state government’s reservation become 82%, highest in the country which was later 
stayed by the Chhattisgarh High Court? 
a. Madhya Pradesh  b. Haryana  c. Punjab d. Chhattisgarh 
rl;b];fh; cah;ePjpkd;wj;jhy; ,ilf;fhy jil tpjpf;fg;gl;Ls;s 82 rjtPjj;Jld; ehl;by; kpf 
mjpf xJf;fPl;il toq;Fk; khepy muR vJ? 
a. kj;jpagpuNjrk;  b. `hpahdh  c. gQ;rhg;  d. rl;b~;fh; 
 

12. Where was underground fossil museum was inaugurated in Tamilnadu? 
a. Theni  b. Tanjavore  c. Cuddalore  d. Ariyalur 
jkpo;ehl;by; epyj;jb Gijtbt mUq;fhl;rpafk; vq;F mikf;fg;gl;Ls;sJ? 
a. Njdp  b. jQ;rht+h;  c. flY}h;  d. mhpaY}h; 
 

13. Which district of Tamilnadu has got 23rd government medical college in the state? 
a. Namakkal  b. Karur  c. Erode  d. Kanyakumari 
jkpofj;jpd; 23tJ kUj;Jtf;fy;Y}hp ve;j khtl;lj;jpy; mikf;fg;gl;Ls;sJ? 
a. ehkf;fy;  b. f&h;  c. <NuhL  d. fd;dpahFkhp 

 
14. Which of the following Express is India’s first corporate run train that is to run between 

Lucknow – Delhi? 
a. Tejas Express   b. Vande Bharat Express 
c. Humsafar Express  d. Duronto Express 
gpd;tUtdtw;Ws; yf;Ndh kw;Wk; nly;yp ,ilNa ,af;fg;gLk; ,e;jpahtpd; Kjy; fhh;g;gNul; 
,uapy; vf;];gpu]; vJ? 
a. Nj[h]; vf;];gpu];  b. te;Nj ghuj; vf;];gpu]; 
c. `k;Nrgh; vf;];gpu];  d. nlhud;l;Nlh vf;];gpu]; 
 

15. Which state has announced to observe 2020 as an Artificial Intelligence Year? 
a. Maharashtra b. Tamilnadu  c. Telangana     d. Andhra Pradesh 
2020Mk; Mz;il nraw;if Ez;zwpT Mz;lhf mDrhpf;f cs;sjhf mwptpj;j khepyk; vJ? 
a. kfhuh~;buk; b. jkpo;ehL  c. njYq;fhdh d. Me;jpugpuNjrk; 

 
16. Match the following 

Nobel Prize, 2019  Persons 
A. Literature   1. Akira Yoshino 
B. Physics   2. Gregg Semenza 
C. Chemistry   3. James Peebles 
D. Medicine   4. Abiy Ahmed Ali 
E. Peace   5. Peter Handke 
 A B C D E 
a. 3 5 2 1 4 
b. 5 4 2 1 3 
c. 4 3 5 1 2 
d. 5 3 1 2 4 
nghUj;Jf. 
Nehgy; ghpR> 2019  egh;fs; 
A.,yf;fpak;   1. Mfpuh Nah~pNdh 
B.,aw;gpay;   2. fpnuf; nrkd;~h 
C. Ntjpapay;   3. N[kP]; gPgy;]; 
D. kUj;Jtk;   4. mNg mfkJ myp 
E. mikjp   5. gPl;lh; N`z;l;Nf 
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 A B C D E 
a. 3 5 2 1 4 
b. 5 4 2 1 3 
c. 4 3 5 1 2 
d. 5 3 1 2 4 

 
17. Which cricketer has became the 1st Indian to Play 100 T20 International matches? 

a. Virat Kohli   b. Harman Preet Kaur 
c. Rohit Sharma  d. Smriti Mandana 
100 tJ T20 rh;tNjr Nghl;bfspy; tpisahba Kjy; ,e;jpa fphpf;nfl; tPuh; ahh;? 
a.tpuhl; Nfhyp  b. `h;kd; gphPj; nfsh; 
c. Nuh`pj; rh;kh  d. ];kpUjp ke;jdh 

 
18. Which project of Chennai City Police has awarded the SkOCH Governance award for the 

implementation of CCTV surveillance in Tamilnadu? 
a. Third Eye   b. Focus at Everyone 
c. Never Ever   d. Stop Crime 
jkpo;ehl;by; rprp btp fz;fhzpg;ig mky;gLj;jpajw;fhf> nrd;id ngUefu fhty;Jiwapd; 
ve;j jpl;lk; ];Nfhr; (SKOCH) MSik tpUij ngw;Ws;sJ? 
a. %d;whk; fz;  b.xt;nthUtiuAk; ftdp 
c. xUNghJk; ,y;iy  d.Fw;wq;fis epWj;J 
 

19. Which UN organisation has become the first to opt transaction in crypto currency? 
a. ILO  b. UNICEF  c. FAO  d. UNESCO 
fphpg;Nlh gzghpth;j;jidia Njh;T nra;j Kjy; I.eh mikg;G vJ? 
a. ILO  b. UNICEF  c. FAO  d. UNESCO 
 

20. What is the name of the first satellite servicing space craft? 
a. SUV – 1  b. LEV – 1  c. MEV – 1  d. LMV – 1 
Kjy; nraw;iff;Nfhs; Nrit tpz;fyj;jpd; ngah; vd;d? 
a. SUV – 1  b. LEV – 1  c. MEV – 1  d. LMV – 1 

 
21. Which state has become the first state to enact the law on contract farming? 

a. Tamilnadu  b. Madhya Pradesh 
c. Haryana   d. Uttar Pradesh 
xg;ge;j Ntshz;ik njhlh;ghd rl;lj;ij ,aw;wpa Kjy; khepyk; vJ? 
a. jkpo;ehL   b. kj;jpa gpuNjrk; 
c. `hpahdh   d. cj;jpugpuNjrk; 
 

22. The Central Government has approved Tamilnadu’s proposal to establish how many medical 
colleges? 
a. Four  b. Two  c. Seven  d. Six 
kj;jpa murhq;fk;> jkpo;ehl;by; vj;jid kUj;Jt fy;Y}hpfis epWt Kd;nkhopit 
toq;fpaJ? 
a. ehd;F  b.,uz;L  c. VO   d. MW 

 
23. 18th Non-Aligned Movement (NAM) Summit was held in 

a. Algeris, Algeria   b. Baku, Azerbaijan 
c. Harare, Zimbabwe  d. Island of Margarita, Venzuela 
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18tJ mzpNruh ,af;f khehL eilngw;w ,lk; ________ 
a. my;[Php];> my;[Phpah  b. gf;$> mrh;ig[hd; 

c. `uhNu> [pk;ghg;Nt  d. khh;fhpl;lh jPT> ntdpRyh 
 

24. Which state became the first to provide maternity benefits in the private educational sector? 
a. Andhra Pradesh  b. Karnataka  c. Tamilnadu  d. Kerala 
jdpahh; fy;tpj;Jiwapy; kfg;NgW rYiffis toq;fpa Kjy; khepyk; vJ? 
a. Me;jpugpuNjrk;  b. fh;ehlfk;  c. jkpo;ehL  d. Nfush 
 

25. Match the following about NITI Aayog’s School Education Quality Index 
State/UTs   Category 
A. Chandigarh  1. Top performer in UTs 
B. Tamilnadu   2. Access and equity outcomes 
C. Karnataka   3. Learning Outcomes 
D. Haryana   4. Best infrastructure and facilities 
 A B C D 
a. 1 2 3 4 
b.  4 3 2 1 
c. 1 4 3 2 
d. 1 3 2 4 
epjp MNahf;fpd; gs;sp fy;tpj;ju FwpaPl;il nghUj;Jf 
khepyk; / UT  tif 
A. rz;bfh;  1. A+dpad; gpuNjrj;jpy; rpwe;J nrayhw;Wgth; 
B. jkpo;ehL  2. vspjpy; mZfy; kw;Wk; jukhd ntspaPL 
C. fh;ehlfk;  3. fw;wy; tpisTfs; 
D. `hpahdh  4. rpwe;j cs;fl;likg;G kw;Wk; trjpfs; 
 A B C D 
a. 1 2 3 4 
b.  4 3 2 1 
c. 1 4 3 2 
d. 1 3 2 4 

 
26. Who became the oldest winner of the Booker Prize 2019? 

a. Alice Walker  b. Toni Morrison 
c. Margaret Atwood d. Mary Angeline 
2019,y; Gf;fh; ghpir ntd;w kpf tajhdth; ahh;? 
a. Vyp]; thy;fh;  b. Nlhdp Nkhhprd; 
c. khh;fpnul; ml;Tl;  d. Nkhp VQ;rypd; 
 

27. Centre has amended the conduct of Election Rules, 1961 that allows citizens of ________ to 
cast their votes through postal ballot? 
a. Age above 80   b. Age above 85 
c. Age above 65   d. Age above 70 
kj;jpa muR Njh;jy; tpjp 1961I jpUj;jpajpd; %yk; _________ tajpw;F Nkw;gl;l Fbkf;fs; 
jghy; thf;F %yk; thf;fspf;f mDkjpf;fpwJ  
a. 80 tajpw;F Nkw;gl;Nlhh;  b. 85 tajpw;F Nkw;gl;Nlhh; 
c. 65 tajpw;F Nkw;gl;Nlhh;  d. 70 tajpwF Nkw;gl;Nlhh; 
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28. Which Payload of Chandrayaan – 2 found Argon 40 in lunar space? 
a. CHACE – 2  b. TMC-2  c. IIRS  d. DFSAR 
re;jpuhad; 2-y; cs;s ve;j jhq;FRik (NgNyhL)> epytpy; Mh;fhd; - 40 I fz;lwpe;jJ?  
a. CHACE – 2  b. TMC-2  c. IIRS  d. DFSAR 
 

29. Which state topped swachh survekshan Grameen awards 2019? 
a. Gujarat  b. Telangana  c. Haryana  d. TamilNadu 
];tr; rh;Ntf~d; fpuhkPd; tpUJfs; 2019-y; ve;j ,e;jpa khepyk; Kjyplk; gpbj;jJ?  
a. F[uhj;  b. njYq;fhdh c. `hpahdh  d. jkpo;ehL  
 

30. Identify the incorrect match. 
Exercise    Country Participated 
a. Surya Kiran XIV  - India and Nepal 
b. Dust lik 2019  - India and Uzbekistan 
c. Zair – Al – Bahr  - India and Oman 
d. Tiger Triumph  - India and USA 
nghUj;jkw;wij Njh;T nra;f.  
 gapw;rp    gq;Nfw;w ehLfs;  
a. #h;a fpuz; XIV   - ,e;jpah kw;Wk; Neghsk; 
b. l];l; ypf; 2019   - ,e;jpah kw;Wk; c];ngfp];jhd;  
c. n[a;h;-my;-ghh;  - ,e;jpah kw;Wk; Xkd;  
d. ilfh; biuak;g;  - ,e;jpah kw;Wk; Av];V  
 

31. Nepal Protested over the inclusion of which region into the new political map of India? 
a. Kalapani  b. Sunauli  c. Belahiya  d. Bhairahawa 
,e;jpahtpd; Gjpa murpay; tiuglj;jpy; vg;gFjpia ,izg;gjw;F Neghsk; vjph;g;Gj; 
njhptpj;jJ?  
a. fhyhghzp  b. Rndsyp  c. ngyh`pah  d. igu`th  
 

32. What is the new motto of Lokpal? 
a. Welfare and Equality is the most preference  
b. All are under Justice 
c. Justice and Welfare 
d. Do not be greedy for any one’s wealth 
Nyhf;ghypd; Gjpa Fwpf;Nfhs; vd;d?  
a. eyd; kw;Wk; rkj;Jtj;jpw;F mjpf Kf;fpaj;Jtk;  
b. midj;Jk; ePjpapd; fPo;  
c. ePjp kw;Wk; eyd;  
d. ahUila nry;tj;jpw;Fk; Nguhir nfhs;shjPh;fs;  
 

33. India’s first elephant memorial was unveiled in? 
a. Mathura  b. Varanasi  c. Agra  d. Gorakhpur 
,e;jpahtpd; Kjy; ahid epidTr;rpd;dk; vq;F ntspaplg;gl;lJ? 
a. kJuh  b. thudhrp  c. Mf;uh  d. Nfhuf;G+h;  
 

34. Who has been appointed as Tamil Nadu Chief Information commissioner? 
a. Ramakrishna  b. Sheela Priya c. R. Rajagopal  d. Selvaraj 
jkpo;ehl;bd;> jiyik jfty; Mizauhf epakpf;fg;gl;lth; ahh;?   
a. ,uhkfpU~;zh   b. ~Pyh gphpah  c. R. ,uh[Nfhghy;   d. nry;tuh[;  
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35. World’s first compressed Natural Gas terminal at 
a. Mangalore, Karnataka  b. Mormogoa, Goa 
c. Bhavnagar, Gujarat  d. Navi Mumbai, Maharashtra 
cyfpd; Kjy; mOj;j ,aw;if thA Kidak; mikaTs;s ,lk; vJ?  
a. kq;f@h;> fh;ehlfk;   b. kh;k Nfhth> Nfhth  
c. ght;efh;> F[uhj;   d. etpKk;ig> kfhuh~;buk;  
 

36. Which Cricket stadium hosted India’s first ever pink ball day/night test match against 
Bangladesh? 
a. Eden Gardens    b. Arun Jaitley Stadium 
c. Wankhede Stadium   d. Dy patil Stadium 
tq;fhsNjrj;jpw;F vjpuhd ,e;jpahtpd; Kjy; ,sQ;rptg;G ge;J gfy; ,uT nl];l; Nghl;b 
ve;j fphpf;nfl; ikjhdj;jpy; eilngw;wJ?  
a. <ld; fhh;ld;     b. mUz; N[l;yp ikjhdk;  
c. thd;f;Nl ];Nlbak; (ikjhdk;)  d. Nl ghl;By; ikjhdk;  
 

37. Government has mandated to enroll FASTag for toll payments on national highways, 
FASTag works under which technology?  
a. Blue Light Technology (BLT)  
b. Code Recognition Technology (CRF)  
c. Radio-frequency identification (RFID)  
d. Image scanner  
Njrpa neLQ;rhiyfspy; midj;J Rq;f fl;lzq;fSf;Fk; FASTag gad;gLj;Jtij muR 
fl;lhakhf;fpAs;sJ> FASTag ve;j njhopy;El;gj;jpy; ,aq;FfpwJ? 
a. g;S iyl; njhopy;El;gk; (BLT) 
b. Nfhl; nuff;Ndrd; njhopy;El;gk; (CRF) 
c. NubNah - /g;hpf;ntd;rp Inld;bgpNfrd; (RFID) 
d. ,Nk[; ];fhdh; 

 

38. What is the rank of India in the Corruption Perception index 2019?  
a. 82   b. 75   c. 80   d. 78  
Coy; FwpaPL 2019 ,y; ,e;jpahtpd; epiy ________ 
a. 82   b. 75   c. 80   d. 78  
 

39. Which Tamil novel by author Cho. Dharman received Sahitya Akademi Award for the year 
2019 recently?  
a. Koogai: The Owl   b. Eeram  c. Sokavanam  d. Sool  
2019Mk; Mz;L ve;j ehtYf;fhf Nrh. jh;kd; rhfpj;ah mfhnjkp tpUe;J ngw;whh;? 
a. Nfhifa; : jp mTy; b. <uk;  c. Nrhftdk;  d. #y; 
 

40. Find the correct statement 
1. The Tamil Nadu health department - has received the best performer award in organ 

donation for the fifth consecutive time 
2. Irumbai, a village in Vanur taluk in Villupuram district - would soon become the 

country’s first fully solar-powered village 
a. 1 only  b. 2 only  c. Both  d. None of these 
jtwhdf; $w;iwf; fhz;f 
1. jkpof Rfhjhuj; Jiw Ie;jhtJ Kiwahf cly; cWg;G jhdj;jpy; rpwg;ghf 

gzpahw;wpaikf;F tpUJ ngw;Ws;sJ 
2. tpOg;Guk; khtl;lk; thD}h; jhYf;fhtpd; ,Uk;ig fpuhkk; ehl;bd; Kjy; Kw;wpYk; #hpa 

Mw;wy; nfhz;l fpuhkkhf cs;sJ 
a. 1 kl;Lk;  b. 2 kl;Lk;  c. ,uz;Lk;  d. ,uz;Lky;y 
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41. Tamil Nadu’s __________ has topped the 2019 rankings of gram panchayats in the country 
a. Molugamboondi  b. Paingadu 
c. Edapadi   d. Pudhuvayal 
2019 Mk; Mz;L fpuhk gQ;rhaj;Jfs; juthpirapy; jkpo;ehl;bd; _________ fpuhkk; 
Kjyplj;jpy; cs;sJ 
a. nkhOfk;g+z;b  b. igq;fhL 
c. vlg;ghb   d. GJtay; 
 

42. To which university Chief Minister Edappadi K. Palaniswami - has handed over a cheque for 
₹1 crore for setting up a Tamil Chair? 
a. Harvard University  b. Houston University 
c. Oxford University  d. University of Michigan 
jkpo; ,Uf;iff;fhf ve;j gy;fiyfofj;jpw;F jkpof Kjy;th; vlg;ghb Nf. godprhkp &.1 
Nfhbf;fhd fhNrhiyia toq;fpAs;shh;? 
a. `hh;th;L gy;fiyfofk;  b. `h];ld; gy;fiyfofk; 
c. Mf;];Nghh;L gy;fiyfofk; d. nkr;rpfd; gy;fiyfofk; 
 

43. Choose the correct statement about Good Governance Index 
1. Tamil Nadu - first in the ‘good governance index’ ranking of states, 2019 
2. However, it fared poorly in commerce and industry sector where it was placed 14th. 
3. The Union Territory of Puducherry - has topped the list among seven Union 

territories.  
a. 1, 3  b. 2, 3  c. 3 only  d. all of these 
rpwe;j MSif njhlh;ghd rhpahd $w;Wfis fhz;f 
1. 2019Mk; Mz;L rpwe;j MSif FwpaPl;by; jkpo;ehL Kjyplj;ij ngw;Ws;sJ. 
2. vdpDk; tzpfk; kw;Wk; njhopy;Jiwapy; 14tJ ,lj;ijNa ngw;Ws;sJ. 
3. a+dpad; gpuNjrkhd ghz;br;Nrhp VO a+dpad; gpuNjrq;fspy; Kjyplk; ngw;Ws;sJ 
a. 1> 3  b. 2> 3 c. 3 kl;Lk;  d. midj;Jk; 
 

44. Which country was hit by Typhoon Tisoy (Kammuri)?  
a. Philippines  b. Thailand   c. Vietnam   d. Cambodia  

 brha; #whtsp ve;j ehl;bid jhf;fpaJ? 
 a. gpypg;igd;]; b. jha;yhe;J  c. tpal;ehk;  d. fk;Nghbah 
 

45. India has set-up a military war game centre named ‘INDIA’ recently at which country? 
a. Uganda  b. Rwanda  c. Kenya  d. Congo 
,e;jpah rkPgj;jpy; ‘INDIA’ vDk; xU ,uhZt Nghh; tpisahl;L ikaj;ij ve;j ehl;by; 
mikj;jJ? 
a. cfhz;lh  b. &thz;lh  c. nfd;ah  d. fhq;Nfh 
 

46. Name the mega trial conducted by the World Health Organisation (WHO) to find cure of 
COVID-19 
a. Isolatory Trial   b. Solidarity Trial 
c. Unified Trial   d. Lopin Trial 
Nfhtpl; -19 I Fzg;gLj;j cyf Rfhjhu Rfhjhuk; Nkw;nfhz;l nghpa Nrhjid vd;d? 
a. INrhNyl;lhp Nrhjid  b. rhyplhpl;b Nrhjid 
c. Adp/igL Nrhjid  d. Nyhg;gpd; Nrhjid 
 

47. Who developed COVID KAVACH ELISA for antibody detection for COVID-19 infection? 
a. CSIR  b. DRDO c. SCTIMST  d. ICMR 
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Nfhtpl; - 19 Neha;j;njhw;Wf;fhd vjph;nghUis fz;lwptjw;fhd COVID KAVACH ELISA 
– it cUthf;fpa mikg;G vJ? 
a. CSIR  b. DRDO c. SCTIMST  d. ICMR 
 

48. NIGHA, a mobile application to curb election malpractices, is an initiative of which Indian 
State? 
a. Rajasthan  b. Andhra Pradesh  c. Punjab  d. Gujarat 
Njh;jy; KiwNfLfis fl;LgLj;Jtjw;F NIGHA vDk; ifg;Ngrp nraypia cUthf;fpAs;s 
,e;jpa khepyk; vJ? 
a. ,uh[];jhd; b. Me;jpugpuNjrk;  c. gQ;rhg;  d. F[uhj; 
 

49. Which state recently passed resolution to conduct a caste-based census in the State? 
a. West Bengal  b. Bihar  c. Kerala  d. Odisha 
rkPgj;jpy; rhjpa mbg;gilapy; kf;fs;njhif fzf;nfLg;G elj;j jPh;khdj;ij epiwNtw;wpa 
khepyk; vJ? 
a. Nkw;F tq;fk;  b. gPfhh;  c. Nfush  d. xb~h 
 

50. Name the person who has become 1st Women Deputy Inspector General (DIG) in Indian 
Coast Guard (ICG). 
a. Ruchi Sharma  b. Nupur Kulshrestha 
c. Priya Jhingan  d. Mitali Madhumita 
,e;jpa flNyhu fhty;gilapd; Kjy; kfsph; Jiz Ma;thsh; ngah; ahJ? 
a. Ur;rp rh;kh   b. Eg;Gh; Fy;];Nuj;jh 
c. gphpah [pq;fd;  d. kpj;jhyp kJkpjh 
 

51. Which is the first Indian State to declare novel coronavirus as ‘State Disaster’? 
a. Kerala  b. Tamilnadu  c. Uttar Pradesh d. Haryana 
nfhNuhdh itu]; Neha;j;njhw;wpid ‘khepyg; Nghpluhf’ mwptpj;Js;s Kjy; ,e;jpa khepyk; 
vJ? 
a. Nfush  b. jkpo;ehL  c. cj;jpugpuNjrk; d. `hpahdh 
 

52. Which state’s pollution control board’s real time pollution monitoring system wins National 
e-Governance Award 2019-20? 
a. Assam  b. Madhya Pradesh  c. Kerala  d. Andhra Pradesh 
ve;j khepyj;jpd; khRf;fl;Lg;ghl;L thhpaj;jpd; khRf;fz;fhzpg;G mikg;G 2019-20Mk; 
Mz;bw;fhd Njrpa kpd; MSif tpUjpid ntd;wJ? 
a. m];]hk;  b. kj;jpagpuNjrk;  c. Nfush  d. Me;jpugpuNjrk; 
 

53. Name the 1st Indian State/UT which achieved 100% LPG coverage due to implementation of 
Pradhan Mantri Ujjwala Yojana Scheme? 
a. New Delhi  b. Haryana  c. Uttarakhand d. Himachal Pradesh 
gpujk ke;jphpapd; c[;[thyh Nah[dh jpl;lj;jpd; %yk; 100 rjtPjk; rikay; vhpthA 
Nritapid ngw;W rhjid Ghpe;j ,e;jpa khepyk; my;yJ A+dpad; gpuNjrk; vJ? 
a. GJjpy;yp  b. `hpahdh  c. cj;jufhz;l; d. ,khr;rygpuNjrk; 
 

54. Which is the first Arab Country that issue license to operate the reactor in its nuclear reactor? 
a. Syria b. Jordan  c. Yemen  d. United Arab Emirates 
Kjd; Kjypy; ve;j muG ehL mjd; mZ ciyapy; ciyia ,af;Ftjw;F chpkk; 
toq;fpAs;sJ? 
a. rphpah b. N[hh;lhd;  c. Vkd;  d. If;fpa muG mkPufk; 
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55. Name the first and youngest Indian tribal woman in the World, who scaled six mountain 
peaks in six continents 
a. Premlata Agarwal  b. Malavath Poorna 
c. Santosh Yadav   d. Bachendri Pal  
MW fz;lq;fspy; MW kiy rpfuq;fis njhl;l cyfpd; Kjy; kw;Wk; ,isa ,e;jpa 
goq;Fb ngz;zpd; ngah; ahJ? 
a. gpNuk;yjh mfh;thy;  b. khstj; g+h;zh 
c. re;Njh~; ahjt;   d. gr;Nre;jphp ghy; 
 

56. Name the word chosen by US linguists as their ‘Word of the Decade’. 
a. Them  b. They  c. Climate  d. Virus 
mnkhpf;f nkhopapayhsh;fs; mth;fsJ ‘jrhg;jj;jpd; nrhy;’ vd;W ve;j nrhy;iy 
Njh;e;njLj;Js;sdh;? 
a. Them  b. They  c. Climate  d. Virus 
 

57. Who received the 1st Muppavarapu Venkaiah Naidu National Award for Excellence? 
a. Chandi Prasad Bhatt b. Dr. MS. Swaminathan 
c. Salim Ali   d. Dr. Gutta Muniratnam 
Kjy; Kg;gtug;G ntq;ifa;ah ehAL Njrpa tpUjpidg; ngw;wth; ahh;? 
a. rz;b gpurhj; gl;  b. lhf;lh;. M.S. Rthkpehjd; 
c. rypk; myp   d. lhf;lh; fl;lh Kdpuj;jpdk; 
 

58. Name the operation launched by Indian Navy to support and provide assistance to Tropical 
cyclone Ava and Flood hit Madagascar 
a. Operation Vanilla b. Operation disaster 
c. Operation Vayu  d. Operation Blue 
klfh];fiu jhf;fpa #whtsp mth ghjpg;gpw;F cjTtjw;fhf ,e;jpa flw;gilahy; 
mikf;fg;gl;l eltbf;ifapd; ngah; ahJ? 
a. MgNurd; ntd;dpyh b. MgNurd; b];]h];lh; 
c. MgNurd; thA  d. MgNurd; g;S 
 

59. Which is the most polluted city in India, according to Greenpeace India’s recent report? 
a. Jharia  b. Cochin  c. Goa  d. Mumbai 
fphPd;gP]; mikg;gpd; rkPgj;jpa mwpf;ifapd;gb ,e;jpahtpd; kpf khRs;s efuk; vJ? 
a. [hhpah  b. nfhr;rpd;  c. Nfhth d. Kk;ig 
 

60. Name the country that has completely phased out of the Hydrochlorofluorocarbon (HCFC) 
– 141 b, one of the most potent ozone depleting chemicals. 
a. USA  b. China  c. India  d. Japan 
XNrhd; glyj;ij Nrjg;gLj;Jk; thAf;fspy; Kf;fpa thAthd 
i`l;NuhFNshNuh/g;SNuhfhh;gid Kw;wpYkhf ePf;fpa ehL vJ? 
a. mnkhpf;fh  b. rPdh  c. ,e;jpah  d. [g;ghd; 
 

61. Find the value of 
43 43 43 23 23 23

43 43 43 23 23 23

  +  

 −  + 
 

a. 43   b. 23  c. 66   d. 20  

,jd; kjpg;ig fhz;f. 
43 43 43 23 23 23

43 43 43 23 23 23

  +  

 −  + 
 

a. 43   b. 23  c. 66   d. 20  
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62. Find the value of 10 25 108 154 225+ + + +  

a. 4   b. 6    c. 8  d. 10 

,jd; kjpg;ig fhz;f: 10 25 108 154 225+ + + +  

a. 4   b. 6    c. 8  d. 10 
 

63. If 34 256x = then find value of x  

a. 4   b. 3
4

   c. 4
3

    d. 2  

34 256x = vdpy; x d; kjpg;ig fhz;f.  

a. 4   b. 3
4

   c. 4
3

    d. 2  

 

64. If 
1

3x
x

+ = then find 3

3

1
?x

x
+ =  

a. 4   b. 7  c. 18   d. 9  

1
3x

x
+ =  vd;why; 3

3

1
x

x
+ d; kjpg;ig fhz;f?  

a. 4   b. 7  c. 18   d. 9  
 

65. Simplify : 
3 1 1 3

26 15 18 37 ?
7 4 7 4
− − + =  

a. 
11

31
14

  b. 
11

28
14

  c. 
11

29
14

   d. 
11

30
14

 

RUf;Ff: 
3 1 1 3

26 15 18 37 ?
7 4 7 4
− − + =  

a. 
11

31
14

  b. 
11

28
14

  c. 
11

29
14

   d. 
11

30
14

 

 
66. If ax2 – 28x + 49 = 0 has equal roots. Then the value of a is  

a. 1   b. 2   c. 3   d. 4 
ax2 – 28x + 49 = 0 vd;w rkd;ghl;bd; %yq;fs; rkk; vdpy; a - d; kjpg;ig fhz;f.  
a. 1   b. 2   c. 3   d. 4 
 

67. Simplify : 
3 8

2 2

x

x x
+

− −
 

a. x2 = 2x + 4   b. x2 + 2x + 4 
c. x2 – 2x – 4   d. x2 + 2x - 4 

RUf;Ff: 
3 8

2 2

x

x x
+

− −
 

a. x2 = 2x + 4   b. x2 + 2x + 4 
c. x2 – 2x – 4   d. x2 + 2x - 4 
 

68. Find the value of : 
1 1 1

2 1 3 2 4 3
+ +

+ + +
= ? 

a. 2  b. 1   c. 3  d. 0 
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,jDila kjpg;ig fhz;f. 
1 1 1

2 1 3 2 4 3
+ +

+ + +
=? 

a. 2  b. 1   c. 3  d. 0 
 

69. Simplify : 
2

1 1

1 1 1

m

m m m
+ +

+ + −
 

a. m2    b. 
2

2

1m

m

−
  c. 

2

1

m
   d. 

2

2 1

m

m −
 

RUf;Ff: 
2

1 1

1 1 1

m

m m m
+ +

+ + −
 

a. m2    b. 
2

2

1m

m

−
  c. 

2

1

m
   d. 

2

2 1

m

m −
 

 

70.  If 
14

15

x

y
=  then find the value of 

4 3

8 3

y x

y x

 −
+ 

+ 
 

a. 
122

110
   b. 

121

118
  c. 

110

102
   d. 

720

721
 

x

y
 vd;gJ 

14

15
 vdpy; 

4 3

8 3

y x

y x

 −
+ 

+ 
d; kjpg;G vd;d?  

a. 
122

110
   b. 

121

118
  c. 

110

102
   d. 

720

721
 

 
71. In an election between two candidates one got 52% of total valid votes 25% of the total votes 

were invalid. The total numbers of votes were 8400 how many valid votes did the other 
person get?  
a. 3276  b. 3196  c. 3024  d. 3026  
Njh;jypy; Nghl;bapl;l ,U Ntl;ghsh;fspy; xUth; nkhj;j jFjpAs;s thf;Ffspy; 52% ngw;whh;. 
25% thf;Ffs; nry;yhj thf;Ffs; gjpthd nkhj;j thf;Ffs; 8400 vdpy; kw;nwhUth; vj;jid 
jFjpAs;s thf;Ffisg; ngw;whh;?  
a. 3276  b. 3196  c. 3024  d. 3026  

 
72. 800 boys and 600 girls appeared in an examination of which 60% of the boys and 70% of the 

girls passed out in the examination. Find total Number of students who did not pass?  
a. 420   b. 500   c. 520   d. 480  
xU Njh;it 800 khzth;fSk; 600 khztpfSk; vOjpdhh;fs;. me;jj; Njh;tpy; 60% 
khzth;fSk; 70% khztpfSk; Njh;r;rp ngw;wdh; vdpy;> Njh;r;rp ngwhj khzt> khztpfspd; 
vz;zpf;ifapy; fhz;f.  
a. 420   b. 500   c. 520   d. 480  
 

73. The income of a person is increased by 20% and then decreased by 20% find the change in 
his income percentage.  
a. 2% decrease b. 3% decrease c. 1% decrease d. 4% decrease 
xU eghpd; tUkhdk; 20% mjpfhpf;fg;gl;L gpwF 20% Fiwf;fg;gLfpwJ vdpy;> mtUila 
tUkhdj;jpy; Vw;gLk; khw;wj;ij fhz;f.  
a. 2% FiwAk; b. 3% FiwAk; c. 1% FiwAk; d. 4% FiwAk; 
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74. In an examination 34% of the students failed in mathematics and 42% failed in English if 
20% of the students failed in both the subjects, then find the percentage of students who 
passed in both the subjects?   
a. 40%  b. 41%  c. 44%  d. 43%  
Njh;T xd;wpy; 34% khzth;fs; fzpjj;jpYk; 42% Mq;fpyj;jpYk; Njhy;tpAw;wdh;. 20% 
khzth;fs; ,uz;L ghlq;fspYk; Njhy;tpAw;wdh; vdpy; vj;jid rjtPjk; khzth;fs; ,U 
ghlq;fspYk; Njh;r;rp ngw;wdh;? 
a. 40%  b. 41%  c. 44%  d. 43%  

  
75. Two numbers are less than third number by 30% and 37% respectively. How much percent 

is the first number greater than by the second?  
a. 20%    b. 30%   c. 11.1%  d. 40%  
,U vz;fs; %d;whk; vz;iz tpl KiwNa 30% kw;Wk; 37% FiwT vdpy; Kjy; vz; 
,uz;lhk; vz;iz tpl vj;jid rjtPjk; mjpfk;?  
a. 20%    b. 30%   c. 11.1%  d. 40%  

 
76. The value of a machine depreciates at the rate of 10% per annum. If its present value is Rs. 

1,62,000 what was the value of the machine 2 years ago?  
a. 19,00,000   b. 1,00,000  c. 2,00,000  d. 2,10,000  
xU ve;jpuj;jpd; kjpg;G tUlj;jpw;F 10% Nja;khdk; MFk;. mjd; jw;Nghija kjpg;G & 
1>62>000 vdpy; 2 tUlq;fs; Kd;G mjd; kjpg;G vd;d?  
a. 19,00,000   b. 1,00,000  c. 2,00,000  d. 2,10,000  
 

77. If the population of a town increased from 25000 to 30000 in a year. find the percentage 
increase in population?  
a. 19%   b. 18%  c. 20%  d. 25%  
xU efuj;jpd; kf;fs;njhif Xh; Mz;by; 25000 ,ypUe;J 30000 Mf mjpfhpj;Js;sJ vdpy;> 
kf;fs; njhif mjpfhpg;G rjtPjj;ijf; fhz;f.  
a. 19%   b. 18%  c. 20%  d. 25%  
 

78. A welfare association has a sports club where 25% of the members play football, 18% play 
Cricket, 27% play volley ball and the rest play indoor games. If 60 member play indoor games 
then how many members are there in the sports club?  
a. 150   b. 200   c. 250   d. 300  
xU eyr;rq;fj;jpd; tpisahl;L kd;wj;jpy;> 25% cWg;gpdh;fs; fhy;ge;ijAk;> 18% 
cWg;gpdh;fs; kl;ilg;ge;ijAk;> 27% cWg;gpdh;fs; ifg;ge;ijAk; kw;wth;fs; cs;suq;F 
tpisahl;LfisAk; tpisahLfpd;wdh;. 60 cWg;gpdh;fs; cs;suq;F tpisahl;Lfis 
tpisahLfpd;wdh; vdpy; tpisahl;L kd;wj;jpy; vj;jid cWg;gpdh;fs; cs;sdh;? 
a. 150   b. 200   c. 250   d. 300  

  
79. A fruit vendor bought some mangoes of which 20% were rotten. He sold 50% of the rest. 

find the total number of mangoes bought by him initially if he has 160 mangoes with him.    
a. 300   b. 400   c. 450   d. 500  
xU go tpahghhp thq;fpa khk;goq;fspy; 20% mOfpapUe;jd. kPjKs;stw;wpy; 50% 
khk;goq;fis tpw;Wtpl;lhh;. jw;NghJ 160 khk;goq;fs; mthplk; ,Uf;fpd;wd vdpy;> Kjypy; 
mth; thq;fpa nkhj;j khk;goq;fspd; vz;zpf;ifiaf; fhz;f.  
a. 300   b. 400   c. 450   d. 500  
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80. Ram scored 70% in an examination. If his score was 490 marks find the maximum marks of 
the examination.  
a. 600   b. 650   c. 700   d. 750  
uhk; vd;gth; xU Njh;tpy; 70% kjpg;ngz;fisg; ngw;whh;. mth; ngw;wJ 490 kjpg;ngz;fs; 
vdpy; Njh;tpd; nkhj;j kjpg;ngz;ffisf; fhz;f.  
a. 600   b. 650   c. 700   d. 750  

 

81. If the selling price of a LED TV is equal to 
6

5
 of its cost price then find gain percentage.  

a. 15%   b. 20%  c. 25%  d. 30%  

Xh; vy;.,.b  (LED) njhiyf;fhl;rpapd; tpw;gid tpiy mjd; mlf;f tpiyiag; Nghd;W 
6

5
 

klq;F vdpy; ,yhgr; rjtPjk; fhz;f.  
a. 15%   b. 20%  c. 25%  d. 30%  
 

82. By selling a bicycle for Rs. 3000 a shopkeeper loses 10% for how much should he sell it to 
have a profit of 5%?  
a. 3000   b. 3200  c. 3500  d. 4000 
xU filf;fhuh; kpjptz;bia Rs. 3000 f;F tpw;gjhy; mtUf;F 10% el;lk; Vw;gLfpwJ. 
mtUf;F 5% ,yhgk; fpilf;f Ntz;Lnkdpy; kpjptz;bia vd;d tpiyf;F tpw;f Ntz;Lk;?  
a. 3000   b. 3200  c. 3500  d. 4000 

 
83. Ram bought a washing machine for Rs. 14150 and paid Rs. 1350 for its transportation. Then 

he sold it for Rs. 18600. Find his gain percentage?  
a. 10%   b. 12%  c. 15%   d. 20%  
uhk; vd;gth; xU Jzp Jitf;Fk; ,ae;jpuj;ij Rs. 14150 f;F thq;fpdhh; kw;Wk; mjd; 
Nghf;Ftuj;J nryTf;fhf Rs. 1350 I nrYj;jpdhh; gpwF mjid Rs. 18600 f;F tpw;whh; vdpy;> 
mthpd; ,yhgk; rjtPj;ij fhz;f.  
a. 10%   b. 12%   c. 15%  d. 20%  
 

84. The cost price of 16 boxes of strawberries is equal to the selling price of 20 boxes of 
strawberries. Find gain or loss percentage?  
a. 20% Loss  b. 25% Loss  c. 25% gain  d. 22% gain 
16 ];l;uhnghp ngl;bfspd; mlf;f tpiyahdJ 20 ];l;uhnghp ngl;bfspd; tpw;gid tpiyf;Fr; 
rkk; vdpy;> ,yhgk; (m) el;lr; rjtPjk; fhz;f?  
a. 20% el;lk;  b. 25% el;lk;  c. 25% yhgk;  d. 22% yhgk;  

 
85. A dealer allows a discount of 20% and still gains 10% what is the cost price of the book 

which is marked at Rs. 440? 
a. 396   b. 320   c. 352  d. 376 
xU Gj;jfj;jpd; tpiyapy; 20% js;Sgb nra;jjhy; xU tpahghhpf;F 10% ,yhgk; 
fpilf;fpwJ. mg;Gj;jfj;jpd; Fwpj;j tpiy & 440 vdpy; mjd; mlf;f tpiy ahJ?  
a. 396   b. 320   c. 352  d. 376 

 
86. A dealer allows a discount of 5% in Marked price of Rs. 5500 then find selling price?  

a. 5440    b. 5335  c. 5225  d. 5555 
xU tpahghhp Fwpj;j tpiy & 5500 apy; 5% js;Sgb mspj;jhy; tpw;gid tpiyia fhz;f?  
a. 5440    b. 5335  c. 5225  d. 5555 
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87. A dealer sold a TV set of Rs. 14400 with a successive discount of 10%, 20% then find marked 
price of the TV set?  
a. 22000  b. 21000  c. 20000  d. 20075 
njhlh; js;Sgbfs; 10%, 20% vd;wthW xU njhiyf;fhl;rp ngl;b  Rs. 14400 – f;F 
tpw;fg;gLfpwJ vdpy; Fwpj;j tpiyia fhz;f.  
a. 22000  b. 21000  c. 20000  d. 20075 
 

88. A dealer gives a discount of 10% still he gains a profit of 20% with the marked price Rs. 600 
then find cost price of the shop?  
a. 410   b. 420   c. 430   d. 450 
xU tpahghhp 10% js;Sgbia toq;fpwhh;. ,Ue;jhYk; 20% yhgk; <l;Lfpwhh;. mjd; Fwpj;j 
tpiy & 600 vdpy; mlf;f tpiyia fhz;f?  
a. 410   b. 420   c. 430   d. 450 

  
89. The price of a product increased by 25% later it is decreased by 44% find the percentage 

change in the price of the product?  
a. 15% decrease b. 10% decrease  c. 20% decrease d. 30% decrease 
xU nghUspd; tpiy 25% cah;j;jg;gl;L gpd;dh; 44% Fiwf;fg;gLfpwJ. vdpy; mg;nghUspd; 
tpiyapy; Vw;gl;l rjtpfpj khw;wk; vd;d?  
a. 15% FiwAk; b. 10% FiwAk;  c. 20% FiwAk; d. 30% FiwAk;  

 
90. A dealer bought a television set for Rs. 12000 and  sold it for Rs. 15,000. Find the profit / 

loss made by him for 4 television set.  
a. 12000 profit b. 15000 loss  c. 76000 loss  d. 17000 profit  
xU nkhj;j tpahghhp xU njhiyf;fhl;rp ngl;bia &. 12000 f;F thq;fp & 15000 f;F 
tpw;fpwhh; vdpy; 4 njhiyf;fhl;rp ngl;bfis tpw;gjhy; fpilf;Fk; ,yhgk; / el;lj;ij fhz;f.  
a. 12000  yhgk; b. 15000 el;lk; c. 76000 el;lk; d. 17000 yhgk; 

 
91. Find the L.C.M of (5x – 10), (5x2 - 20)  

a. 5(x-2) (x-4)  b. 5 (x+2) (x – 2)  c. 15(x+2) (x-2)  d. 10(x-2)2 
(5x – 10), (5x2 - 20) ,jw;F kP.rp.k fhz;f?  
a. 5(x-2) (x-4)  b. 5 (x+2) (x – 2)  c. 15(x+2) (x-2)  d. 10(x-2)2 

 
92. The LCM of 2 numbers is 2079 and their HCF is 27 if the 1st number is 189, find the 2nd 

number.  
a. 298   b. 295   c. 297  d. 287  
,U vz;fspd; kP.rp.k 2079> kP.ngh.t. 27 mt;ntz;fSs; Kjy; vz; 189 vdpy; ,uz;lhk; vz;?  
a. 298   b. 295   c. 297  d. 287  

 

93. The difference of two numbers is 
1

9
 of their sum. Their sum is 45. Find the LCM. 

a. 225   b. 100  c. 150   d. 200  

,U vz;fspd; tpj;jpahrk; mjd; $l;Lj; njhifiag; Nghy; 
1

9
 klq;Fk;> $l;Lj;njhif 45 

vdpy; kP.rp.k fhz;f?  
a. 225   b. 100  c. 150   d. 200  
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94. The LCM of two numbers is 495 and their HCF is 5. If sum of the numbers is 100, find the 
difference of the numbers.  
a. 10   b. 20   c. 15  d. 25 
,U vz;fspd; kP.rp.k 495 kw;Wk; kP.ngh.t 5. mt;tpU vz;fspd; $l;Lj;njhif 100> vdpy; 
,U vz;fSf;fpilNa cs;s tpj;jpahrk; vd;d?  
a. 10   b. 20   c. 15  d. 25 

 
95. Three rods of length 15m, 42m, and 39m are to be cut into pieces of equal lengths. Find the 

greatest possible length of each piece? 
a. 5m   b. 6 m  c. 3 m  d. 4 m 
15 kP> 42kP> 39kP ePs msTs;s %d;W fk;gpfis rk Jz;Lfshf gphpf;Fk; NghJ> Jz;bd; 
mjpfgl;r ePsk; vd;d?  
a. 5 kP   b. 6 kP  c. 3 kP  d. 4 kP  

 
96. Two numbers are in the ratio 3 : 4 and the product of their L.C.M and H.C.F is 10800 find 

the sum of the numbers.  
a. 210   b. 220   c. 219  d. 250  
,U vz;fs; 3 : 4 vd;w tpfpjj;jpy; cs;sJ. mtw;wpd; kP.rp.k. kw;Wk; kP.ngh.t. Mfpatw;wpd; 
ngUf;Fj; njhif 10>800 vdpy; mt;tpU vz;fspd; $l;Lnjhif vd;d?  
a. 210   b. 220   c. 219  d. 250  

   
97. Ratio of two numbers is 6 : 7 and the LCM is 420, then the smaller number is?  

a. 10   b. 60   c. 70  d. 30 
,U vz;fs; 6 : 7 vd;w tpfpjj;jpy; cs;sJ. mjd; kP.rp.k 420 vdpy; kpfr; rpwpa vz; vd;d?  
a. 10   b. 60   c. 70  d. 30 

 
98. Three numbers are in the ratio of 3 : 4 : 5 and their LCM is 2400. Their HCF is  

a. 40   b. 80   c. 120   d. 200 
%d;W vz;fs; 3 : 4 : 5 vd;w tpfpjj;jpy; cs;sJ. mtw;wpd; kP.rp.k2400 vdpy; kP.ngh.t fhz;f.  
a. 40   b. 80   c. 120   d. 200 

 
99. The Greatest number of four digits which is divisible by 15, 25, 40 and 75 is  

a. 9000  b. 9400  c. 9600  d. 9800  
15, 25, 40, 75 My; tFglf;$ba ehd;F ,yf;F vz;fspy; kpfg; nghpa vz; vJ?  
a. 9000  b. 9400  c. 9600  d. 9800  
 

100. Find the least number divided by 12, 15, 20, 54 and leaves a remainder each of 8. 
a. 530  b. 544   c. 548   d. 560  
ve;j xU rpwpa vz; 12, 15, 20 kw;Wk; 54-y; tFg;gl;lhy; xt;nthd;wpYk; kPjp 8 Mf mikAk;?  
a. 530  b. 544   c. 548   d. 560  

 
 


